
Veteran Mobile Parts List

Assemble basket #2 to center pole #4 with bolt #5. Insert set screw #6 
and tighten.

Insert the top #1 to the top of the center pole #4 and tighten with bolt #5. 
Insert set screw #6 and tighten.

6 5

6 5

6 5

Materials: Powder Coated Steel Basket, Steel Center Pole, Powder Coated Steel Base, Stain-
less Steel Chain Connections, SS Chains


